Monday May 4th.
I bought an apple for 42c.  I gave the shopkeeper €1.  My change was:_______________________

I bought a pear for 16c.  I gave the shopkeeper €1.  My change was:_______________________

I bought chocolate for 73c.  I gave the shopkeeper €1.  My change was:_______________________

I bought a copy for 34c.  I gave the shopkeeper €1.  My changewas:_______________________

I bought a bag for 63c.  .  I gave the shopkeeper €1.  My changewas:_______________________

Rounding:
Round these numbers to the nearest 10:
46 _____	83  _____		72_______	51_______	13__________

Now do you remember how to estimate??
Round the two numbers first and them add them
SO
46 + 33 =    	50 + 30 = 80
Do these sums in the same way:
43 + 12+    ______________________________________________
54 + 33    ________________________________________
77 + 11 ____________________________________________


WRITE THESE NUMBERS AS WORDS
71__________________________46__________________________
52_______________________14_____________________________



Jumping up to the next 10/decuple
54 + _____ = 60	61 + _____ = 70		46+_____ = 50
17 + ______= 20	22 + ____ = 30		48 + ____ = 50

How many more must I put with 6 to get 14?______because________
[bookmark: _GoBack]How many more must I put with 7 to get 13?  _______  because______
